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1-660 58
2
o
A 1 R=80m 3 2
2 PC
700mm H
10m 2
(@) 1 ( 5m )
Dsi 8988 12936 | 23646 | 51954 | 95214
5 1.00 1.44 2.63 5.79 12.3
q 0.674 | 0.671 | 0.667 | 0.664 | 0.664
0.796 | 0.794 | 0.792 | 0.791 | 0.790
i)
2 ( )
Dsi 8988 4494 2996 2247 1798
1.00 2.00 3.00 4.00 5.00
a 0.674 | 0.686 | 0.696 | 0.705 | 0.714
0.796 | 0.802 | 0.808 | 0.813 | 0.819
2 3 ( 5m )
2 1.00 1.44 2.63 5.79 12.3
2 Gl 0.003 | 0.007 | 0.010 | 0.010
Aa 0.002 | 0.004 | 0.005 | 0.006
M (Gl [ >
) 4 ( )
Ms 1.00 | 2.00 | 3.00 | 4.00 | 5.00
o =Ms/M (@ 05 1 R 0.012 | 0.022 | 0.031 | 0.040
a 0.006 | 0.012 | 0.017 | 0.023
a=0.5 61 G2
) 5m ' —
1
2
3 4 10
2
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1-660 58 15
0.01 0.06 5
0.04 0.023
1
n 5 (A 1)
1.00 | 255 | 754 | 1.00 | 2.00 | (7.54)
Gl 0.006 | 0.009 0.005 | (0.020)
G1 Aa 0.008 | 0.012 0.002 | (0.008)
c14 _ ——> . —
Gl 5
2
A 1
( )
Mc =-6Dc/d’>x z ( Dc (=Ecx Ic) d z )
6 ( )
6
(m) 5.0 | 10.0 | 5.0 | 10.0 | 5.0 | 10.0
If(x 10~n%) 3.09 | 3.09 | 7.89 | 7.89 | 23.30 | 23.30
z(mm) 1.45 | 2.12 | 0.83 | 1.42 | 0.37 | 0.81
lc(x 10™m*/m) | 19.55 | 19.55 | 19.55 | 19.55 | 19.55 | 19.55
(kN m/m) | 10.3 15.1 5.9 10.1 2.6 5.8
o, 0.7 1.1 0.4 0.7 0.2 0.4
(N/mm?) g, 0.7 1.1 0.4 0.7 0.2 0.4
7.5
1/3
172
172 8
FEM 1
i T T T Tei -
Py ='““~*"’*"—&‘-‘-3';1‘-‘_1_-._'- atpansger
D
49  pp.50 58 32 10
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